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(iv) DAPAR H JIIT Tlofd & |

General Instructions :
(i)  All questions are compulsory.

(it) The question paper consists of 31 questions divided into four
sections —A, B, C and D.

(iti) Section A contains 4 questions of 1 mark each, Section B
contains 6 questions of 2 marks each, Section C contains 10
questions of 3 marks each and Section D contains 11 questions
of 4 marks each.

(iv) Use of calculators is not permitted.

Qg A
SECTION A

97 &7 1 @4 T Je9 97 1 3% BT 3 |
Question numbers 1 to 4 carry 1 mark each.

1. Jfc 99N a — 2, 4a — 1 99T 5a + 2 Tsh UG ¢! S48, df a ohl
HH A9 hIfST |

If the numbers a — 2, 4a — 1 and 5a + 2 form an A.P., find the
value of a.
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gy W @s 15 1. q9r 10 {1, S=18 & < @i o el * Th ar &
TR TSl J1aT 8 | e I8 IR &fast faem & 30° &1 vl s=d) 7, ot
IRl TS H1d hifT |

The tops of two poles of height 15 m and 10 m, standing on the
ground, are connected by a wire. If the wire makes an angle of
30° with the horizontal, then find the length of the wire.

feaftan i T 9 S [ AT SN T Y B 3 A e AT R

319 I 91T ST Hehd @ |

Write the number of solid cubes of side 3 cm which can be cut

from a solid cube of side 9 cm.

Fig fog R(5, 7) fomgati P(3, y) 991 Q(x, 9) %I A It {@T@vs i
Heg-forg 2, T x + y I A F1d hIT |

If the point R(5, 7) is the mid-point of the line-segment joining
the points P(3, y) and Q(x, 9), find the value of x +y.

Qs d
SECTION B

G GEIT 5 & 10 T% b 97 & 2 37 & /

Question numbers 5 to 10 carry 2 marks each.

5. fgama st 5x2 — 15/5x + 50 = 0 % T S1d hIfT |

Find the roots of the quadratic equation 5x2 — 15J5x + 50 = 0.
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6. I T UG A & YYH n UG 1 AMHA S, = n(4n + 1) g JeT 7,
ql 39 Gt BT 1041 U Fd hifT |

If the sum of the first n terms of an A.P. is given as
S, =n(4n + 1), find its 10t® term.

7. 5 &l S O U 99 % g O ® 13 Tl o g W feua w foieg
PH gd W &% W@ PQ @1 PR €= T & | 9949 PQOR I
&%hel T ShIfT |

From a point P which is at a distance of 13 cm from the
centre O of a circle of radius 5 cm, tangents PQ and PR are
drawn to the circle. Find the area of the quadrilateral PQOR.

8. 3U gd I AW T hifve Feh1 &a, W& g Il o &ABA h
AT o G &, ToFeh sam@ 30 It qem 16 9t 3 |

Find the diameter of the circle whose area is equal to the sum of
the areas of the two circles of diameters 30 cm and 16 cm.

9. A <kl Tk TS | U Gt 3ok qAm At U9 & v e few e | 3w
< I H H IGSAT Teh g1 el T | 39 U % AT 7 9 awdi
1A T o B4 <hl TTRIekdT d <hIfT |

From a deck of playing cards all aces and all hearts are
removed. A card is then drawn from the remaining cards. Find
the probability that it is a red face card.

10, Th S H ke &8 P9 W 1§ 15 0 TN 37fhd & | 59 § §
ATGTHAT Teh 1S THehTAT 7T | TRIehd 1 FTa shifere, fob fehrer T e
T Teh AT &A1 3fehd B |

A box contains cards numbered from 1 to 15. A card is drawn
at random from the box. Find the probability that the drawn
card bears a prime number.
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SECTION C

7 G 11 G20 T JA4F 97 & 3 3F & |

Question numbers 11 to 20 carry 3 marks each.

11. = gt & g1 31a hifvg

S S P
X +4 x -7 30

Find the solutions of the following equation :

1 — 1 =H; x#—4,17.
X+ 4 X -7 30

12. 3fc frelt ot 9t o 999 7 UG T AMMHA 112 8 qAT 3Hh TH
17 9 <l ANTHA 697 B, T $Heh TUH n eI T JTHA FTd <hIfoT |
If the sum of the first 7 terms of an A.P. is 112 and that of its

first 17 terms is 697, find the sum of its first n terms.

13. Tg SIS or forell amer formg @ Torelt @ o W=l 718 a1 Toei T@iedi =
s 1 v TNl fogett w1 e 9 WEve g g Waid
ShIUT 1 TYLh BT & |

Prove that the angle between two tangents drawn from an
external point to a circle is supplementary to the angle
subtended by the line segment joining the points of contact at

the centre.
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14.

15.

16.

30(B)

qfrt % wh fomg &, St dAR * ure-ferg & 30 W A gl W R,
AR o e &1 I Hr 30° 3 | HAR H S9E Ja e |
[V/3 = 1.73 fifSu ]

The angle of elevation of the top of a tower from a point on the

ground, which is 30 m away from the foot of the tower, is 30°.

Find the height of the tower. [ Use +/3 = 1-73 ]

14 &t B3 aTel 9 1 Th =19 heg T 90° T IV NG LT & |

1A I (1) =19 T TS (1) TG SET GRS T @Y Ja@Us
8I% | [ = % ST |

In a circle of radius 14 cm, an arc subtends an angle of 90° at

the centre. Find (i) the length of the arc (ii) the area of minor

segment formed by the corresponding chord. [ Use ©n = 22 ]

Tsh JrhR Wd W T 18 U Hiet i & ¥ &1 T 1 =99 T 3,960
2139 @d il T 0-70 Ifd ot Mex ft @ A JATE FaH HT I AT

22
hioe | [ =22 i ]
The cost of fencing a circular field at the rate of ¥ 18 per metre

is T 3,960. Find the cost of ploughing the field at the rate of
T 0-70 per m2. [Use = 27—2 ]




17. 28 At YT 9Tel Ush TR 318 Scleh o Ush Helh ohl 3Tgt hl 3R &
HICHL Teh MNATHR TEET 39 ThR ST TAT foh A<Mt 1 =04
T h Teh (IR o SR B | AT 9 M A T &A% IR

aﬁﬁm[n:iﬁaﬁﬁm

A hemispherical depression is cut out from one face of a solid
cubical block of side 28 cm, such that the diameter of the
hemisphere is equal to the edge of the cube. Determine the

surface area of the remaining solid. [ Use nt = 22 ]

18. =418 8 Hi. T 14 H. TEU T FHAT Wil ST g AR @igd & epref]
T3 TSt o 99 4 9 o w11 1. x 8 H. AT Teh A S

T 2 | 39 SR S HaTE A1 HI | [nzg?ﬂﬁm]

A 14 m deep well with diameter 8 m is dug and the earth from

digging is evenly spread out to form a platform 11 m x 8 m.
22

Find the height of the platform. [ Use n = £ ]
19. x-318 W 98 o5 1d I S (1, — 6) 3R (— 1, 8) § THGE 7 |

Find the point on the x-axis which is equidistant from (1, — 6)
and (- 1, 8).

20. famgati (- 5, 8) 3 (4, — 10) i S I WEUE Hl o (- 3, y)
Torg STguTd # fowTiora &hEat 8 | y o1 AF o S1d i |

Find the ratio in which the line segment joining the points
(-5, 8) and (4, — 10) is divided by the point (- 3, y). Also find
the value of y.
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QuE 3
SECTION D

Jo7 GEIT2] @31 TF IAH JoH &4 3HFH 5 /

Question numbers 21 to 31 carry 4 marks each.

21. = grftertor 1 x & foTu g hifs .

xed _1ox 11,4

X—2_ X

Solve the following equation for x :

X+ 3 B 1-x _ E’ x#2,0.
X —2 X 4

22. @ UMl % T TH FY Th B hl 9§‘dﬁﬁmm%‘|a§
T 91T 9 B Bl W H Y FH 9 Ad 8 10 9¢ HH g9
WAl 2 | Ik I g AT 9 B o WA HI IHI [T <hIfVT |

Two water taps together can fill a tank in 9% hours. The tap of
larger diameter takes 10 hours less than the smaller one to fill
the tank separately. Find the time in which each tap can
separately fill the tank.

30(B) 8



23. T oo™ o B 3 Jg-UgHUT HH i o T feme™ & 3Tt 3R
TR U W & aR T g | I8 For form mn fh yis e @

Teh TN AT HeTT hl FEAT < SR U8 A | fomre™ 4 e
1 ¥ el 10 o YcIeh HET & A U 7 | faeme™ & sl g
T T A USH <hl T&AT [T hITTT |

UET S T BEI H b ol o1 S g3TT 2

In a school, students thought of planting trees in and around

the school to reduce air pollution. It was decided that the
number of trees, that each section of each class will plant, will
be the same as the class in which they are studying. There are
three sections of each class from class I to class X. How many
trees were planted by the students of the school ?

What values were generated in students by this action ?

24. fag Hifve o foreft s fog & 990 — & © oot et
ATETSAT SIS Bl & |
Prove that the lengths of tangents drawn from an external
point to a circle are equal.

25. fag SIS fo foreft 91 & wfora TR =gy, T uaqy 2iaT & |

Prove that the parallelogram circumscribing a circle is a
rhombus.

26. 5 uHi, 6 Tl qem 7 Tl ST AT Tk A ABC % UHEY U 7
BIYS 1 A1 o faw, Eeh! Y9 A ABC &t &7d STt 1
g THT 81, T & =l fefau |
Write the steps of construction for constructing a triangle

similar to A ABC with sides 5 cm, 6 cm and 7 cm, such that its

sides are g times the sides of A ABC.
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27. 15 . T T HIGl, Th FET9X AR % A1 W THR A0 g8 7 TR
Ig R % fret 9% ugadt @ qun daR < |1 60° T R0 S @ B |
QAR ! HaT3 q1 HiGl o I1g 991 S & = <l gl H1d hIT |
A ladder 15 metres long just reaches the top of a vertical wall.
If the ladder makes an angle of 60° with the wall, find the
height of the wall and the distance of the foot of the ladder
from the wall.

28. 1.54 91 Hl. &A% dTed Ueh iy 4R gRI 176 Wi, < gl 97 K H
ST T FeFehl] <hl TEAT T shIToTT | [n:g fifete |

7
Find the number of revolutions made by a circular wheel of
area 1-54 m? in rolling a distance of 176 m. [ Use © = g]

29. 300 Tt =S TR 120 T TEH TH T W U 20 feprfi/aer i =mer &
¥8 W@ & | 20 fime 4 g 9= foraq &wa Y fomms o uwft sefe
fo=mg & fou 8 It =t urh <hi sTrevehar @ 2

A canal is 300 cm wide and 120 cm deep. The water in the
canal is flowing with a speed of 20 km/h. How much area will

it irrigate in 20 minutes if 8 cm of standing water is required ?

30. < fi=t €l 1 Tk 1Y el AT B |
G) uf geyifaq it =i fafae |

(i) TFI 9E W IS TEIRA R ANHA 8 B <hl UTRehdl ITd
éli\ﬁQ |

Two different dice are thrown at the same time.

(i)  Write down all the possible outcomes.

(i1) Find the probability that the sum of the two numbers
appearing on the two dice is 8.

30(B) 10



31. TH Iqdd ABCD &1 &F%d IMd HifWC Ifc 56 I A(- 3, 9),
B(-2,-3), C(1, —4)da1 D(6,7) & |

Find the area of the quadrilateral ABCD whose vertices are

A(-3,9), B(-2,-3), C(1, - 4) and D(6, 7).

30(B) 11



